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Bài 1: Thực hiện phép tính:
	1. 3.52 + 15.22 – 26:2
1. 53.2 – 100 : 4 + 23.5
1. 62 : 9 + 50.2 – 33.3
1. 32.5 + 23.10 – 81:3
1. 513 : 510 – 25.22
1. 20 : 22 + 59 : 58
1. 100 : 52 + 7.32
1. 84 : 4 + 39 : 37 + 50
1. 29 –[16 + 3.(51 – 49)]
	1. (519 : 517 + 3) : 7
1. 79 : 77 – 32 + 23.52
1. 1200 : 2 + 62.21 + 18
1. 59 : 57 + 70 : 14 – 20
1. 32.5 – 22.7  + 83
1. 59 : 57 + 12.3 + 70
1. 5.22 + 98:72
1. 311 : 39 – 147 : 72
1. 295 – (31 – 22.5)2
	1. 151 – 291 : 288 + 12.3
1. 238 : 236 + 51.32 - 72
1. 791 : 789 + 5.52 – 124
1.  4.15 + 28:7 – 620:618
1. (32 + 23.5) : 7
1. 1125 : 1123 – 35 : (110 + 23) – 60
1.  520 : (515.6 + 515.19)
1. 718 : 716 +22.33

	Bài 2: Thực hiện phép tính:

	1.  47 – [(45.24 – 52.12):14]
1. 50 – [(20 – 23) : 2 + 34]
1. 102 – [60 : (56 : 54 – 3.5)]
1. 10–[(82 – 48).5 +(23.10 +8)] : 28
1. 8697 – [37 : 35 + 2(13 – 3)]
1. 2011 + 5[300 – (17 – 7)2]
1. 695 – [200 + (11 – 1)2]
1. 129 – 5[29 – (6 – 1)2]
1. 2010 – 2000 : [486 – 2(72 – 6)]
	1. 2345 – 1000 : [19 – 2(21 – 18)2]
1. 128 – [68 + 8(37 – 35)2] : 4
1. 568 – {5[143 – (4 – 1)2] + 10} : 10
1. 307 – [(180 – 160) : 22 + 9] : 2
1. 205 – [1200 – (42 – 2.3)3] : 40
1. 177 :[2.(42 – 9) + 32(15 – 10)]
1. [(25 – 22.3) + (32.4 + 16)]: 5
1. 125(28 + 72) – 25(32.4 + 64)
1. 500 – {5[409 – (23.3 – 21)2] + 103} : 15


    Bài 3: Tìm x:
	1. 71 – (33 + x) = 26
1. (x + 73) – 26 = 76
1. 89 – (73 – x) = 20
1.  (x + 7) – 25 = 13
1. 198 – (x + 4) = 120
1. 140 : (x – 8) = 7
1. 4(x + 41) = 400
1. 11(x – 9) = 77
	1. 2x – 49 = 5.32
1. 200 – (2x + 6) = 43
1. 2(x- 51) = 2.23 + 20
1. 450 : (x – 19) = 50
1. 4(x – 3) = 72 – 110
1. 135 – 5(x + 4) = 35
1. 25 + 3(x – 8) = 106
1. 32(x + 4) – 52 = 5.22



